Weekly report



Weekly summary

* Chicd to gam lepton lepton

— preSeletion updated. number of charged
tracks has been saved.

* Jpsi to inv.
— discussed with PKU
— suyu tried combine two data sets directly.

» Etac inv.
— background study with inclusive MC sample



Amit
Weekly Report

1. | had done the simulation and reconstruction for 100 events.
2. | have saved the charged Tarck information for 100 events and successfully generated the rootfile.
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3. Next | am trying to get more and more information with my script code with proper suggestion of Kai Lui.



Weely report — Kong Lingteng

What | have done:

* 1.Learn root. (draw pictures, ttree, histogram, etc.)
* 2.5tudy machine learning. (Decision tree)

* 3.Fix bugs and run iris classification program.

* 4 Understand the functions that the program uses.
Plan:

* Discuss with Xin about the next step



Kal

« Etacinv.

— some background analysis with inclusive
MC samples.

— no obvious peaking background could be

m; seen

- — resolution of signal peak sounds not good,
20 may be could be improved by performing
10 kinematic fit.
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Suyu
« Suyu worked hard this week.

— report on meeting with PKU

— report on the performance appraisal(*% %)
J/psi — invisible

Take 09 & 12 as one data set

vaf
B(J /Y — invisible ) €.y * €y
B(T /¥ = uru) M.
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mm Eugl%) | N | &%) Buul*w UL@BO%I*W
4048007 a04*0.1 713652 603 * 3497 3236003 -26
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mean value 47212+110911 mean value
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(500,000 MC sample) 4237+11034
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backup of suyu
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« Background is too high to show chi_cJ peaks.



J/psi — invisible
Take 09 & 12 as one data set
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J/psi — invisible
Simultaneous fit

What we do now:
UL @ 90%

Fit > | N({}/psi->invisible) | = B/B =

Br(}/psi->invisible)

How we use simul_fit?

Simul Fit :>i Br(J/psi->invisible) i:} N{J/psi->invisible) | = B/B P R e

Does it reasonable?



